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QUESTION 1

You want to modify the look and behavior of the application through profile options. When you try to modify it, you are
unable to perform the action. Which statement is true regarding profile options?

A. You cannot modify the constituents of the existing profile options without saving them after creation.
B. You can modify the constituents of the existing profile options, but your manager must enable them for modification.

C. You can modify the constituents of the existing profile options, but the system administrator must enable them for
modification.

D. You can modify the constituents of the existing profile options, but you must enable them for modification.

Correct Answer: C

QUESTION 2

An organization uses the Previous Employment content type to capture relevant employment details of employees.
What do you do to make this content type available in other applications?

A. Do nothing. After the content type is created, it is available for use in all applications.
B. Make sure it is a non-free-form content type.

C. Specify a Subscriber Code for the content type.

D. Make sure it is a free-form content type.

Correct Answer: C

QUESTION 3

Grade structures (grades, grade rates, and grade ladder) were configured for your customer and the required employee
assignment data was migrated to the system. However, there was a change in requirement and the customer decided to
delete some grades because they were no longer used. When you try to delete one such grade from the system, the
system throws an error. Identify three possible reasons for the system error. (Choose three.)

A. There are assignment records of one or more employees associated with this grade.

B. The grade has grade rates defined.

C. The grade is linked to a grade ladder.

D. A grade cannot be deleted and can only be made inactive by changing the status to "Inactive".

E. A grade cannot be deleted and can only be end-dated.

Correct Answer: ABC
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QUESTION 4

As an implementation consultant, you have been assigned the task of configuring Person Name Format within
Workforce Information.

Which two configurations can be done through this task? (Choose two.)
A. the name fields that appear in the Person Details section when you are hiring an employee
B. the appearance of a worker\\'s name when it appears in search results

C. what name fields are required when completing the Person Details section when hiring or updating a worker\\'s
person details

D. the way a worker\\'s name appears on top of employee-level pages

Correct Answer: BC

QUESTION 5

You are implementing the Enterprise Checklist functionality for one of your customers. The customer wants certain
checklist tasks allocated to the employee automatically before their hire date.

What should you do to achieve the required functionality?

A. Associated the area of responsibility with the checklist template to allocate the checklist to persons automatically
when they are given the specific area of responsibility.

B. The worker must be added as a Pending Worker and the enterprise or step checklist need to be tied to the Add a
Pending Worker action.

C. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event.

D. Managers can automatically allocate checklist templates to the persons whom they manage from the Onboarding
work area.

E. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile.

Correct Answer: C
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